GSE Algebral | Unit 6 — Graphing Quadratics 6.3 - Practice

Name: Date:
‘ Converting Forms of a Quadratic
Convert from vertex form to standard form.
1. f(x)=(x+4]" +5 2 H)=={k78) -2 3. f(x)=2(x-2)"-3
(X1+8X+”0)+6 Q(XZ——‘-\X*'“D'g
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Convert from standard form to vertex form by using x = -b/2a. Then, give the axis of
symmetry and vertex.

4. f(x)=x+4x+3 . f(X)=x2=2x+5 6. f(xX)=2x" -8x+17
’ b -1 =9 | '
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Convert from standard form to vertex form by using the calculator. Then, give the axis
of symmetry and vertex.

7 f(X)=X2—8x+15 8. f(x):x2—4x 9 f(x)=2x2+12x+7
0=) b=-8 =15 B 0=1 b=12 =T
0=1 h=y k= R e |

BE= (eaF-1) 0= (-] H00=204+211)

verdey (A0 Boeocd  VOrRX(20) wosx2  Vewex (3oil) ROSX=-3

10.Find the axis of symmetry and vertex for the two functions representing the trajectory
of a baill.

a) f(f)=—167‘2+64)‘+10 b) g(f):—161‘2+64f+30
Verexs(2,14) Verrex: (2/9)
S X=1 MG Y=L

Which function will be higher atits peak? £y chipn % Q4774

‘ How can you determine that by looking at the equation in standard form?2.

The "¢ VAo | \ S
and % 710.






Unit 6 - Graphing Quadratics

Graphing in Standard Form Practice

1. f(X)=x"-4x+5 | 2. f(x)=—x*+6x-8 3. f(x)=—x*+4
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Solving Quadratics Practice

1. What is the best method to solve the following quadratic? x* +9x+20=0

@ Factoring  B. Square Roots C. Completing the Square  D. Quadratic Formula

2. What are the solutions to the equation in number 12

‘4 and -5

A. 4and 5 C.2and 10 D.-2and-10
KEAAXAL0 = (XHD(XtG) ¥i=0 X*‘? 0 ‘
C E . _+
3. Whatis the bes’r method to solve the oIowmrohc2 (x 6 (—L’jﬁy ‘l
A. Factoring Squore Roots C. Completing the Squore B Quodrohc Formula

4., What are the solutions to the equation in number 32
1443 B. -1+43

5. What is the best method to solve the following quadratic? x* +12x =21

C.2+6 D.-2++[6

A. Factoring  B. Square Roots Completing the Square  D. Quadratic Formula

6. What are the solutions to the equation in number 5¢

& Efomfis —6i\/ﬁ C.6+\15 D 125415

AN1¥ 3 = 2143k
oo =Tk
¥tU= 115
X= At {6






